Geometry Name ¢ - Jé_t}l) ID: 1

Chapter 4 Review Date.  Period
Find the coordinates of the vertices of each figure after the given transformation.
1) translation: (x, y) — (x -2,y- 4) 2) translation: (x, y) — (x +4,y-— 1)

D(-2, 1), E(=3, 5), F(2, 4) D(-5,-3), ¢(-1.0), B(-1,-4)

L’D(~4, -3), E{=5,1), 0. OU [D’(ﬁl, ~4), (3, -1), B3, —5)j

Write a rule to describe each transformation.

3) 700, 2), U3, 5), ¥(3,2) 4y 4(1,-3), B(2, -2), (3, -5)
0 to
T"_(-—j,-__‘l_ )LU‘(tml, 4), ¥(-1,1) 470, 3), B(1, 4), (2, 1)

Ltranslation: (x, y) — (x -4, y- 1) ] E&atmn: (x, y) — (x =l y + 6]/

Find the coordinates of the vertices of each figure after the given transformation.

5) reflection across y = -2 6) reflection across y =—x ( Q b> — (;b' '0\>
-3, -3), w(1, -2), X(~1, -5) w(-s, -3), X(=5, 2), (-3, -1)
/ FW—(] -2}, X(~1, 1), ¥(=3, ~1) i \{-2.5). ¥(1, 3), w13, 5)7

(o'o) =(-a,b)

7) reflection across the y-axis 8) reflection across y = x (0\ 'bB = ( b, q>
8(-3,-3), (=2, -1), U(-1, -5) R(=5. ~4), S(-5, -2), T(-4, -2)

LT’(Z -1), U11, -5). 813, —SU B—z, -5), 71-2. -4), R'(-4, —ﬂ




(a,b) "‘3(,&)'\3)

9) reflection across the x-axis
o1, -4), R(5,-1), S(5, -5)

F'(s, 1).515, 5), 011, 4)

Write a rule to describe each transformation.
11) K(_4a _2)) [‘(—47 3)3 M(l » l)a N(O: _4)

to
L(-4,-3), M(1,-1), N (0, 4), K(-4, 2)

{ reflection across the x-axis l

13) I(-4, -1), H(-3, 4), G(-1, 0)
to

H{(-4, 3), G0, 1), 1(1, 4)

reflection across y = —x

Find the coordinates of the vertices of each figure after the given transformation.

15) rotation 180° about the origin (& jb> =3 "'0\;'@ 16) rotation of 270° about the origin

X0, 3), J(4, 4), K(2. 0)

)i(o, ). J(-4, -4), K{-2, 0) ]

s}

=)

10) reflection across x = 2

%(54)1(35
[0t 50.)

12) D(2,3), E(5, 5), (5, 2)
to
E(-5,5), F(-5, 2), D(-2, 3)

!' reflection across the y-axis ]

14) M(-4,-3), w(-3,-1), X(~3,-3)
to

w(-1,-3), x(=3, =3), ¥(-3, —4)

/ reflection across y = x 7

N =

S(1, -3), T(4, -1), U(4, -5)

503D T(1,-4) V)

17) rotation of 90° about the origin <0¥’| b) - (“ bl D\>

E@3,-1),F4,3),G(5, 1)

[E(I&) Fi(-3,4) cf’(—l,sj




18. A dilation maps the preimage (-2, 3) onto the image (4, -6). What is the scale factor of the
dilation?

K="17

19. The base of a triangle measures 5 cm and the height measures 7 cm. After a dilation is
performed by a scale factor of 3, what is the area of the new triangle?

base x 3 neignt ¥ 3 A::’L_(b)(,h\
S x¥3=19 e R A:—{(’g)(zbz \5?.5&“

20. A translation using the vector <-2, 5> is performed to create the image (4, -2). What are the:

coordinates of the preimage? (¥, .\h —3 ()( -2, \ +S—>
- N LS

(oA (4:72)

21. What would the scale factor be of a dilation that rotates a figure 180°and makes the image a
third of the size of the preimage?

e d4

22. Write a coordinate rule that would translate an image 3 units up and 4 units dewn,

() = (x4, ¥+

23. Aferris wheel takes 40 seconds to complete a rotation. A seat that starts on coordinate (10, 0) is
rotated for 10 seconds about the origin. What are the new coordinates for the seat after the

rotation? %:# D1L0\ HJ” YDI'&"‘!M . (a,b) — («b,&)

:\L (3u°> = q0° L(B’OB — (0, IO>J

24. Determine a) how many lines of symmetry each figure has (if any) and b) What are the angles of

rotational symmetry for each figure (if any)?




25. Triangle ABC is reflected over line k and then reflected over line m. The distance between line k

and m is 5 cm. The distance between point B and line k is 3 cm, and the distance between point

C"” and line mis 4 cm.

a. What is the distance from Ato A”? ] ) "

IO M 8.3 iﬁ g

Ne e/ 7 N
b. What is the distance from B’ to B"? \1 L_\ oM ' /:/,, .\ ‘ P (Y /
A a| e
c. What is the distance from Cto C'?
I 7 tm z

d. What single transformation is equivalent to these to reflections?

"\’mns\a\%m) (Awice ha disfonar beboeen £ and m)

26. Afigure is reflected over line k and then reflected over line m. What is the angle of rotation this

figure could go through to end up in the same location?

° twie +the measur of 4T
@ ( e angle betwoen “][:-—;
fwo lersechne linas) 4

27. If afigure is rotated 100 degrees. Your friend tells you that this transformation could have also
been completed by using a reflection over two intersecting lines. What would the angle be
between those two intersecting lines in order to be equivalent to a 100 degree rotation?

}500 |

28. Find the scale factor of each dilation. Tell whether it was an enlargement or reduction.
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29. Describe the difference between a rigid motion and a non-rigid motion.
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30. Challenge:

may leave your answer in decimal form.

O Fnd i L Ao y2xt ey () @ Find infersecton

m="L (za) \/='{x FiL Xt = gx 4N
2.5%x =1\
\/:m»sc—rb _
W= (2) +h X = A
= R
L =—1th sz(‘ln")*”q"s'

17’_b
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Find point C on the x-axis so AC + BC is a minimum

31. A(1,4) and B(6,1)

(/o —4={(D+o o =(x-%
: ((‘ ) -4 =+ 47, 19
A ‘_L____\(_‘)__.. =X
_ -9 = —
m_‘ U\S:\X*(—Q (9(6 03
32. A(4,-5) and B(12,3) H
1= 3=\ (W)+o
’v%(l%)J“(g -9 4+ O = \x—9
i S L
W= q-6
== C (‘% 0)
33. A(—8,4) and B(—1,3) J
A (-%,u “4=((-8)*bo
< \ ) -L\: ‘___(%‘\,\O O - X'&’L{
’Tq )4 16 *® S_— = 'i
1 v\:\)-\ 4 =1o Y
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34. A(~1,7) and B(5, —4) S =
: -l -y 3
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